EMEEEDEEEHE%EE

1] EI%
=
| |}
i =] Gl
E L E1
OP-204,205 & OP-206,208,210,2128 0OP-215,218,221,224 & B | B |
S {L/UNIT-mm
; e
L) =
BB ae® A B c 0 EEF G H H1 " H2 12 H3
JSPEC Nose Of (h&)
i Spindle
__OF-204 = 110 59 &5 = === = 70.6 = = = - -
OP-205 Ac-d 135 60 110 63513 20 - 96 826 PCDoi18  3-M8x1.25P = = =
OP-206 A5 169 81 140 82563 15 - 116 1048 PCDol145 6B6-M10x1.5P -- - -
OP-208 A-B(A-5) 210 91 170 106375 17 23 150 133.4 PCDo180 6-M10x1.5P = = =
OP-210 A-B{A-6) 254 100 220 139719 18 28 190 171.4 PCD0225 6-M12x1.75P = = —
- OP-212 A8 304 110 220 139719 18 -- 180 1714 PCDo250 6-M12x175P - = =

260 235 = = PCD0230  3-M12x1.75F PCDe300
260 235 PCD0230 3-M12x1.75P PCDo300 3-M12x1.75F PCDo380
2 3302 PGD0300 3-M16x2P _ PCD0380  3-M16x2P _ PGDo480
4636 4636 PCD0350 3-M16x2P  PCDo450  3-M16x2P  PCDo550
190 1714 = = PCDo160 3-M12x1.75F PCD0220
190 1714 PCDo170  3-Mi6x2P  PCDo260
116 1048 PCD090  5-MBx1.25P  PCDo140
150 1334 PCD0120 3-MBx125F PCDo170

_ OP-215 A-11(A-8) 381 133 300 196.869 22 33
OF-218 A-11(A=8) 450 133 300 196.869 22 A3
OP-221 A-15(A-11) 530 140 380 285775 27 41
OP-224 A-20(A-15) 610 149 520 412745 27 42
A-B(A~6) 254 100 220 139719 18 28

A:-B 304 108 220 139719 18 —
OP-206L 173 87 140 82563 15 -
OP-208L ArB(A.—S) 215 108 170 106375 17 23

LR
LR

(60000, 1o 1 e pie HHo pia J) B I LG 1 NN
)
L#]
o
(%]

OP-210L A-B(A-6) 256 112 220 139.719 18 28 190 171.4 PCDe180 3-M12x1.75FP PCD0o220
=
"ﬁ%ﬁ%ﬁ 13 J K L M N N (e] o] P E @ R 8§ T U v W X
ISPEG max min max. min ma min.
OP-204 -- 26 3-M10x15P -- 14 23 203 1186 87 35 65 28 10 175 2 M32x1.5P 12 24 495
OP-205 - 33 3-M10x15P 15 14 262 235 1§ 6 1 -9 25 10 20 2 M40x15P 12 315 62
_OP-206 = 45 6-M10x1.5P 16 3235 296 24 % 11 -1 31 12 19 2 MbB5x2P 20 375 73
~ OP-208 -- 52 6-M12x1.75P 18 391 354 30 10 145 -15 35 14 205 2 M60x2P 30 385 95
OP-210 - 75 &-M16x2P 19 515 471 34 12 85 -105 40 16 25 2 MB5x2P 40 43 110

OP-215 3-M12x1.75P 1175 6&-M20x25P 28 823 77 46 13 75 18 B2 22 425 5 M130x2P 48 6685 185
OP-218 3-M12x1.75P 120 6-M20x2.5P 28 83e 785 78 18 75 -16 62 22 425 5 M130x2P 48 66.5 165

~ OP-221  3-M16x2P 180 6-M24x3P 33 1196 1143 633 213 105 -13 65 25 425 5 M195x2P B0 735 180

OP-224 3-M16x2P 205 6-M24x3P 37 60 1344 1284 873 213 135 -11 65 256 41 5 M220x3P B0 735 180

OP-210BH | 3M12x1.75P 78  &-Mibx2P 24 39 531 486 05355 11.05 B8.95 -1055 40 16 25 2 MB7x2P 40 43 110

OP-212BH  3-M16x2P 93 B-M16x2P 27 30 637 587 4555 1255 865 -1305 50 21 26 2 M103x2P 50 51 128

OP-206L ~ 3-MBx1.25P 45 B-MiOx1.5P 15 20 39.07 3346 2105 1055 11 -4 31 12 19 2 MS55x2P 20 375 73

OP-208L  3-MBx1.25P 52 6-M12x1.75P 21 25 47.85 39.66 2505 13.05 145 -7.5 35 14 205 2 MeOx2P 30 395 95

OP-210L 3-M12x1 75P 75 6—M16:2F’ 22 30 6134 5208 2005 1255 B85 -165 40 16 25 23 M85x2P 40 43 110

20
25
30
OP-212 - 81 6M16x2P 25 30 616 563 46 12 8 15 50 21 28 2 M10x2P 50 51 129
43
43
6(}

3 - = bl [~ £ - ﬁj‘:gﬁﬁ

=t | EIET SEETE r BAILD EABEED : ——
1SPEG [Diameter]  Stroke anameler] rp.m.min’) . orce Force Pressure e'g Ma‘d“'"g oty
' mm) (o) P kgl (KN) kgt (KN) ygreme (Mpa) (K@)  Cyiinder ange
OP-204 - 26 10 J.a 8000 1428 (14) 2850 (28) 24 (23) 38  P0928 07~0110
OP-205 = 33 10 5.4 7000 1730 (17) 3570 (35) 29  (28) 6.1 P1036 010-0135
OP-206 = 45 12 55 6000 2140 (21) 5710 (56) 28  (27) 125  P1246 0130169
OP-208  104.8 52 16 7.4 5000 3360 (33) 8360 (82) 26  (25) 219  P1552 013~0210
OP-210 1334 75 19 8.3 4200 4280 (42) 11010 (108) 27 (26) 337  P1875 0300254
X - 91 23 10.6 3300 5500 (54) 14380 (141) 27  (26) 553  P2091 035~0304
171.4 117.5 23 10.6 2500 7140 (70) 18250 (179) 245 (24) 1068  P2511 035-0381
171.4 120 23 10.6 2000 7140 (70) 18250 (179) 245 (24) 152  P2511 040~0450
235 180 23 10.6 1700 9080 (89) 23760 (233) 515 (3.0) 1952  P2816 0115~0530
330.2 205 26 12 1400 9080 (89) 23760 (233) 3165 (30) 2694  P2816 0140~0610
133.4 78 195 9 4200 4280 (42) 11010 (108) 27  (26) 367  Pi8/8 0300254
OP212BH - 93 21 10 3300 5500 (54) 14380 (141) 28  (27) 57.4  P2093 035~0304
OP-206L e 45 15 108 4300 2140 (21) 4080  (40) P P TR P1246 020~0173
OP-208L ~ 104.8 52 22 16 3500 3360 (33) 5910 (58) 26 (25 37 P1552 025~0215
OP-210L | 133.4 75 25 18 3000 4280 (42) 7540 (74) 27 (26) 406  P1875 040~0256



